QUESTION 71
Which characteristics are representative of a link-state routing protocol? (Choose three.) (10.2.1-1)(10.1.9-1)(10.0.1-1)
A. provides common view of entire topology
B. exchanges routing tables with neighbors
C. calculates shortest path
D. utilizes event-triggered updates
E. utilizes frequent periodic updates
Answer: ACD
Explanation/Reference:
鏈路狀態路由協定有協定特點？
A:提供查看拓撲的命令，正確。show ip ospf database
B：鄰居之間交換路由資訊，錯誤。交換LSA
C：計算最短路徑，正確。
D：利用觸發更新，正確
E：利用週期更新，錯誤。
















QUESTION 72
Which of the following statements describe the network shown in the graphic? (Choose two.) (2.1.2-5)
[image: ]
A. There are two broadcast domains in the network.
B. There are four broadcast domains in the network.
C. There are six broadcast domains in the network.
D. There are four collision domains in the network.
E. There are five collision domains in the network.
F. There are seven collision domains in the network.
Answer: AF
Explanation/Reference:
路由器一個埠一個廣播域
交換機一個埠一個衝突域
集線器一個衝突域。左邊是集線器，右邊是交換機。









QUESTION 73
Use the output from the router shown in the graphic above to determine which of the following are correct.
(Choose two.) (5.3.2-1)
[image: ]
A. Router John uses a link-state routing protocol.
B. Router John will receive routing updates on the Serial0/0 interface.
C. Router John will receive routing updates on the Serial0/1 interface.
D. Router John will send routing updates out the Serial0/0 interface.
E. Router John will send routing updates out the FastEthernet0/0 interface.
F. Router John will send routing updates out the Serial0/1 interface.
Answer: BD
Explanation/Reference:
由圖中幾處畫紅線的地方可知只有s0/0發送和接受路由資訊。







QUESTION 74
A national retail chain needs to design an IP addressing scheme to support a nationwide network. The company needs a minimum of 300 sub-networks and a maximum of 50 host addresses per subnet.Working with only one Class B address, which of the following subnet masks will support an appropriateaddressing scheme?  (Choose two.) (6.5.1-1)
A. 255.255.255.0
B. 255.255.255.128
C. 255.255.252.0
D. 255.255.255.224
E. 255.255.255.192
F. 255.255.248.0
Answer: BE
Explanation/Reference:
需要至少300個子網，每個子網至少50台主機。使用一個B類位址來劃分。
A：最多有256個子網，錯誤
C：只有64個子網
D：每個子網只有30個可用IP
F：只有32個子網。

QUESTION 75
Given the address 192.168.20.19/28, which of the following are valid host addresses on this subnet? (6.5.1-2)
(Choose two.)
A. 192.168.20.29
B. 192.168.20.16
C. 192.168.20.17
D. 192.168.20.31
E. 192.168.20.0
Answer: AC
Explanation/Reference:
192.168.20.19/28所屬網段的範圍是：192.168.20.16-192.168.20.31/28
QUESTION 76
An inbound access list has been configured on a serial interface to deny packet entry for TCP and UDP ports 21, 23 and 25. What types of packets will be permitted by this ACL? (Choose three.) (3.3.1-1)
A. FTP
B. Telnet
C. SMTP
D. DNS
E. HTTP
F. POP3
Answer: DEF
Explanation/Reference:
acl拒絕了tcp/udp 21 23 25這三個埠的流量，哪些流量會被放行？
A：tcp 23埠
B：tcp 25埠
C：udp 53埠
D：tcp 80埠
E：tcp 110埠
QUESTION 77
Which are valid modes for a switch port used as a VLAN trunk? (Choose three.) (3.3.4-1)
A. transparent
B. auto
C. on
D. desirable
E. blocking
F. forwarding
Answer: BCD
Explanation/Reference:
有三種方式建立trunk鏈路
auto、on、desirable
QUESTION 78
OSPF routing uses the concept of areas. What are the characteristics of OSPF areas? (Choose three.)(11.2.3-1)
A. Each OSPF area requires a loopback interface to be configured.
B. Areas may be assigned any number from 0 to 65535.
C. Area 0 is called the backbone area.
D. Hierarchical OSPF networks do not require multiple areas.
E. Multiple OSPF areas must connect to area 0.
F. Single area OSPF networks must be configured in area 1.
Answer: BCE
Explanation/Reference:
A：每個區域需要換回口，錯誤
B：區域ID的範圍是0--65535，正確
C：區域0是骨幹區域，正確
D：分層的OSPF網路不需要多區域，錯誤。就是依賴多區域分層。
E：多區域情況必須存在區域0，正確。
F：單區域的區域號必須被配置為區域1，錯誤。








QUESTION 79
What information does a router running a link-state protocol use to build and maintain its topological database? (Choose two.) (10.1.3-1)(11.1.5-1)
A. hello packets
B. SAP messages sent by other routers
C. LSAs from other routers
D. beacons received on point-to-point links
E. routing tables received from other link-state routers
F. TTL packets from designated routers
Answer: AC
Explanation/Reference:
鏈路狀態路由協定如何維護拓撲資料庫？
A：hello包用於維護鄰居關係，正確。
B：錯誤，沒有這個概念。
C：通過其他路由器的LSA，正確。
D：從點到點鏈路接收，錯誤。答案片面
E：從其他路由器接收路由表，錯誤。相互間不直接發送路由表。
B. F：從DR接受TTL包，錯誤，答非所問。













QUESTION 80
Which statements describe the routing protocol OSPF? (Choose three.) (11.1.6-1)
A. It supports VLSM.
B. It is used to route between autonomous systems.
C. It confines network instability to one area of the network.
D. It increases routing overhead on the network.
E. It allows extensive control of routing updates.
F. It is simpler to configure than RIP v2.
Answer: ACE
Explanation/Reference:
A：支持VLSM，正確
B：在AS之間使用，錯誤。在AS內部使用
C：限制了不穩定網路的範圍，正確。通過劃分區域實現。
D：增加了網路的開銷，錯誤。
E：允許路由更新控制，正確。
F：比RIPv2更容易配置，錯誤，答非所問。
















QUESTION 81
The switches shown in the diagram, Core and Core2, are both Catalyst 2950s. The addressing scheme foreach company site is as follows: Router Ethernet port - 1st usable address
Core - 2nd usable address
Core2 - 3rd usable address
For this network, which of the following commands must be configured on Core2 to allow it to be managed remotely from any subnet on the network? (Choose three.)
(2.4.1-2) (2.3.6-1)(3.3.2-1)
[image: ]
A. Core2(config)# interface f0/0
Core2(config-if)# ip address 192.168.1.10 255.255.255.248
B. Core2(config)# interface vlan 1
Core2(config-if)# ip address 192.168.1.11 255.255.255.248
C. Core2(config)# line con 0
Core2(config-line)# password cisco
D. Core2(config)# line vty 0 4
Core2(config-line)# password cisco
E. Core2(config)# ip default-gateway 192.168.1.9
F. Core2(config)# ip route 0.0.0.0 0.0.0.0 192.168.1.8
Answer: BDE
Explanation/Reference:
實現遠端管理，需要給交換機配置管理IP，需要路由可達
B:配置管理IP。2層交換機只能在vlan中配置IP
D：配置vty密碼
E:配置缺省閘道
	


QUESTION 82
An administrator is unsuccessful in adding VLAN 50 to a switch. While troubleshooting the problem,The administrator views the output of the show vtp status command, which is displayed in the graphic.What commands must be issued on this switch to add VLAN 50 to the database? (Choose two.) (4.2.4-2)(3.3.2-1)
[image: ]
A. Switch(config-if)# switchport access vlan 50
B. Switch(vlan)# vtp server
C. Switch(config)# config-revision 20
D. Switch(config)# vlan 50 name Tech
E. Switch(vlan)# vlan 50
F. Switch(vlan)# switchport trunk vlan 50
Answer: BE
Explanation/Reference:
無法在交換機上添加vlan50的原因?
從圖中畫紅線地方可以看出交換機處於client模式，無法增加，刪除，修改vlan。
題目說在database中增加，所以選BE










QUESTION 83
Which of the following IP addresses fall into the CIDR block of 115.64.4.0/22? (Choose three.) (6.3.2-1)
A. 115.64.8.32
B. 115.64.7.64
C. 115.64.6.255
D. 115.64.3.255
E. 115.64.5.128
F. 115.64.12.128
Answer: BCE
Explanation/Reference:
115.64.4.0/22的範圍是115.64.4.0/22--115.64.7.255/22

QUESTION 84
Which of the following are types of flow control? (Choose three.) (4.3.4-2)
A. buffering
B. cut-through
C. windowing
D. congestion avoidance
E. load balancing
Answer: ACD
Explanation/Reference:
流控制有哪些？
A：緩存
B：直通
C：視窗機制
D：擁塞避免
E：負載均衡。


QUESTION 85
Which destination addresses will be used by Host A to send data to Host C? (Choose two.)(5.3.4-1)(1.4.5-1)
[image: ]
A. the IP address of Switch 1
B. the MAC address of Switch 1
C. the IP address of Host C
D. the MAC address of Host C
E. the IP address of the router's E0 interface
F. the MAC address of the router's E0 interface
Answer: CF
Explanation/Reference:
資料包在轉發的過程中，源目IP不變，源目MAC會變化。
目的地不在同一個網段，資料先發送到閘道。













QUESTION 86
What can be determined from the line of show ip route output shown in the exhibit? (Choose two.) (5.3.1-2)
[image: ]
A. The next routing update can be expected in 35 seconds.
B. The IP address 10.10.10.6 is configured on S0/1.
C. The IP address 10.10.10.8 is configured on S0/1.
D. This route is using the default administrative distance.
E. The 10.10.10.8 network is two hops away from this router
Answer: DE
Explanation/Reference:
考點：考查RIP的路由條目。通過RIP學習到一條到達10.10.10.8的路由，下一跳是10.10.10.6，
出介面是s/1。
A：錯誤。rip更新週期為30s，正常計時器不會超過30
B：錯誤，這個ip是對端介面ip
C：錯誤。s0/1的ip無法得知
D：正確，rip缺省的管理距離是120
E：正確。








QUESTION 87
Refer to the exhibit. All of the routers in the network are configured with the ip subnet-zero command.Which network addresses should be used for Link A and Network A? (Choose two.) (6.5.1-2)
[image: ]
A. Network A - 172.16.3.48/26
B. Network A - 172.16.3.128/25
C. Network A - 172.16.3.192/26
D. Link A - 172.16.3.0/30
E. Link A - 172.16.3.40/30
F. Link A - 172.16.3.112/30
Answer: BD
Explanation/Reference:
配置了ip subnet-zero，可以使用全0網段。
A：錯誤，120台主機，主機位元至少為7位元。
B:正確，主機位元32-25=7
C：錯誤，主機位元少於7位元
D：正確。因為使用了ip subnet-zero。
E:錯誤，包含在172.16.3.32/27網段中
F:錯誤，包換在172.16.3.96/27網段中

QUESTION 88
Which two subnetworks would be included in the summarized address of 172.31.80.0 /20? (Choose two.) (6.2.2-1)
A. 172.31.17.4 /30
B. 172.31.51.16 /30
C. 172.31.64.0 /18
D. 172.31.80.0 /22
E. 172.31.92.0 /22
F. 172.31.192.0 /18
Answer: DE
Explanation/Reference:
考點：考查VLSM知識點
172.31.80.0/20網段所在的範圍是172.31.64.0--172.31.95.255/20
D/E都在這個範圍內。
QUESTION 89
The network administrator has discovered that the power supply has failed on a switch in the companyLAN and that the switch has stopped functioning. It has been replaced with a Cisco Catalyst 2950 series switch. What must be done to ensure that this new switch becomes the root bridge on the network? (5.3.2-1)
A. Lower the bridge priority number.
B. Change the MAC address of the switch.
C. Increase the VTP revision number for the domain.
D. Lower the root path cost on the switch ports.
E. Assign the switch an IP address with the lowest value.
Answer: A
Explanation/Reference:
考點：STP的選舉原則
RID=優先順序+mac地址
小者優先


QUESTION 90
Refer to the exhibit. Assume that all of the router interfaces are operational and configured correctly. How will router R2 be affected by the configuration of R1 that is shown in the exhibit?(11.5.1-1)
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A. Router R2 will not form a neighbor relationship with R1.
B. Router R2 will obtain a full routing table, including a default route, from R1.
C. R2 will obtain OSPF updates from R1, but will not obtain a default route from R1.
D. R2 will not have a route for the directly connected serial network, but all other directly connected networks will be present, as well as the two Ethernet networks connected to R1.
Answer: B
Explanation/Reference:
考查OSPF產生默認路由的條件
雖然默認路由出口錯誤但是鄰居仍然回收到正確答案選：B
QUESTION 91
Which three IP addresses can be assigned to hosts if the subnet mask is /27 and subnet zero is usable?(Choose three.)(6.5.1-1)
A. 10.15.32.17
B. 17.15.66.128
C. 66.55.128.1
D. 135.1.64.34
E. 129.33.192.192
F. 192.168.5.63
Answer: ACD
Explanation/Reference:
遮罩為27，所以一個子網可以有32個IP，可用的30個
A：10.15.32.0-31/27，正確
B：17.15.66.128-159/27，錯誤，17.15.66.128剛好是網路號
C：66.55.128.0-31/27，正確
D：135.1.64.32-63/27,正確
E：剛好是網路號，錯誤
F：剛好是廣播位址，錯誤
QUESTION 92
Refer to the exhibit. A packet with a source IP address of 192.168.2.4 and a destination IP address of 10.1.1.4 arrives at the HokesB router. What action does the router take?(1.4.4-1)
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A. forwards the received packet out the Serial0/0 interface
B. forwards a packet containing an EIGRP advertisement out the Serial0/1 interface
C. forwards a packet containing an ICMP message out the FastEthernet0/0 interface
D. forwards a packet containing an ARP request out the FastEthernet0/1 interface
Answer: C
Explanation/Reference:
路由器中沒有去往目的地的路由，返回一個ICMP報錯報文
去往源IP的路由下一跳是f0/0，所以選C
QUESTION 93
Refer to the exhibit. From RouterA, a network administrator is able to ping the serial interface of RouterB but unable to ping any of the subnets attached to RouterB. Based on the partial outputs in the exhibit, what could be the problem? (9.5.1-1)
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A. EIGRP does not support VLSM.
B. The EIGRP network statements are incorrectly configured.
C. The IP addressing on the serial interface of RouterA is incorrect.
D. The routing protocol has summarized on the classful boundary.
E. EIGRP has been configured with an invalid autonomous system number.
Answer: D
Explanation/Reference:
QUESTION 94
What are three characteristics of the OSPF routing protocol? (Choose three.)
(11.0.1-1)(11.1.3-1)(11.3.2-3)
A. It converges quickly.
B. OSPF is a classful routing protocol.
C. It uses cost to determine the best route.
D. It uses the DUAL algorithm to determine the best route.
E. OSPF routers send the complete routing table to all directly attached routers.
F. OSPF routers discover neighbors before exchanging routing information.
Answer: ACF
Explanation/Reference:
考查OSPF特性
A：收斂快，正確
B:有類路由，正確
C：使用cost值確定最優路由，正確
D：使用dual演算法，錯誤，這個是EIGRP的演算法
E：發送全部路由資訊，錯誤，增量更新。
F：在交換資訊之前先建立鄰接關係，正確。













QUESTION 95
Refer to the exhibit. SW1 and SW2 have default configurations. What will happen if host 1 sends a broadcast?(2.1.2-5)
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A. Hosts 2, 3, and 4 will receive the broadcast.
B. Hosts 1, 2, 3, and 4 will receive the broadcast.
C. Host 2 and the Fa0/0 interface of R1 will receive the broadcast.
D. Hosts 1, 2 and the Fa0/0 interface of R1 will receive the broadcast.
E. Hosts 1, 2, 3, 4 and interface Fa0/0 of R1 will receive the broadcast.
F. Hosts 2, 3, 4, and interfaces Fa0/0 and Fa0/1 of R1 will receive the broadcast.
Answer: C
Explanation/Reference:
考查路由器的功能：隔離廣播域，一個埠一個廣播域。
綜上所述，選C。




QUESTION 96
A router has learned three possible routes that could be used to reach a destination network. One route is from EIGRP and has a composite metric of 20514560. Another route is from OSPF with a metric of 782. The last is from RIPv2 and has a metric of 4. Which route or routes will the router install in the routing table? (11.1.7-1)
A. the OSPF route
B. the EIGRP route
C. the RIPv2 route
D. all three routes
E. the OSPF and RIPv2 routes
Answer: B
Explanation/Reference:
考點：考查路由條目進入路由表的原則：最優路由才能進入。去往同一目的的多條路由，先比較AD值，AD值小者優先；AD值一直則比較metric值。
AD值：
EIGRP 90
OSPF 110
RIP 120

















QUESTION 97
For what two purposes does the Ethernet protocol use physical addresses? (Choose two.) (9.1.2-1)(9.1.3-1)
A. to uniquely identify devices at Layer 2
B. to allow communication with devices on a different network
C. to differentiate a Layer 2 frame from a Layer 3 packet
D. to establish a priority system to determine which device gets to transmit first
E. to allow communication between different devices on the same network
F. to allow detection of a remote device when its physical address is unknown
Answer: AE
Explanation/Reference:
考點：考查mac地址的作用。
A：在二層唯一確定一台設備，正確
B：是設備在不同的網路中通信，錯誤，不同網路通信需要通過IP位址確定。
C：區別二層和三層幀，錯誤。
D：確定設備的優先順序，錯誤。沒有這個功能。
E：是同一網路的不同設備可以通信，正確
F：當不知道遠端設備的物理位址時可以查詢，錯誤。不能跨網段。







QUESTION 98
As a frame leaves a Layer 3 device, the Layer 2 encapsulation information is changed from what it was when it entered the device. For what two reasons can this happen? (Choose two.)(7.3.5-1)(1.4.5-1)
A. The data is moving from 10BASE-TX to 100BASE-TX.
B. The WAN encapsulation type has changed.
C. The data format has changed from analog to digital.
D. The source and destination hosts are in the same subnet.
E. The source and destination MAC addresses have changed.
Answer: BE
Explanation/Reference:
考點：資料包轉發過程。當資料包離開三層設備時，二層封裝哪些資訊改變了。
A：從10M網路到100M網路，錯誤。帶寬改變不會改變資料包封裝。
B：廣域網封裝改變，正確。如從HDCL變成PPP
C：資料格式從類比型號變成資料信號，錯誤，物理層的信號方式變化不會影響二層資料格式。
D：錯誤。
E：原蜜MAC改變，正確。













QUESTION 99
Which two statements are true regarding EIGRP? (Choose two.)(9.4.3-1)(9.1.9.1)(4.5.1-1)
A. Passive routes are in the process of being calculated by DUAL.
B. EIGRP supports VLSM, route summarization, and routing update authentication.
C. EIGRP exchanges full routing table information with neighboring routers with every update.
D. If the feasible successor has a higher advertised distance than the successor route, it becomes the primary route.
E. A query process is used to discover a replacement for a failed route if a feasible successor is not identified from the current routing information.
Answer: BE
Explanation/Reference:
A：被動路由在路由進程中由dual計算，錯誤。
B：至此VLSM，路由匯總，認證，正確
C：每次更新都發送全部的路由資訊，錯誤，增量更新。
D：如果可行後繼路由器有一個比後繼路由器高的通告距離，它會成為主路由條目，錯誤。
E：如果不存在FS，使用查詢進程去發現替代失效的路由資訊，正確。












QUESTION 100
Refer to the exhibit. In the communication between host 1 and host 2 over the point-to-point WAN, which protocol or technology is represented by dashed line A?
(7.1.1-2)
[image: ]
A. IP
B. T1
C. PPP
D. IEEE 802.3
Answer: A
Explanation/Reference:
A：主機之間的通信依靠IP確定對方位址。
B：T1，廣域網線路的一種
C：PPP，二層封裝的一種。
D：ieee 802.3 乙太網封裝。




QUESTION 101
Refer to the exhibit. The switch in the graphic has a default configuration and the MAC table is fully populated. In addition, this network is operating properly. The graphic represents selected header information in a frame leaving host A. What can be concluded from this information? (1.4.5-2)
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A. The MAC address of host A is FFFF.FFFF.FFFF.
B. The router will forward the packet in this frame to the Internet.
C. The switch will only forward this frame to the attached router interface.
D. All devices in this LAN except host A will pass the packet to Layer 3.
Answer: D
Explanation/Reference:
QUESTION 102
What is an appropriate use of a default route? (2.6.2-1)
A. to provide routing to a local web server
B. to provide routing from an ISP to a stub network
C. to provide routing that will override the configured dynamic routing protocol
D. to provide routing to a destination that is not specified in the routing table and which is outside the local network
Explanation/Reference:
考點：考查缺省路由的特點
A：提供路由到本地web伺服器，錯誤
B：提供從ISP到末節網路的路由，錯誤
C：提供優先于動態路由協定的路由，錯誤。根據最長匹配原則，缺省路由最後才匹配。
D：正確
QUESTION 103
Refer to the exhibit. A junior network engineer has prepared the exhibited configuration file. What two statements are true of the planned configuration for interface fa0/1? (Choose two.) (6.2.5-1)
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A. The two FastEthernet interfaces will require NAT configured on two outside serial interfaces.
B. Address translation on fa0/1 is not required for DMZ Devices to access the Internet.
C. The fa0/1 IP address overlaps with the space used by s0/0.
D. The fa0/1 IP address is invalid for the IP subnet on which it resides.
E. Internet hosts may not initiate connections to DMZ Devices through the configuration that is shown.
Answer: BE
Explanation/Reference:
DMZ使用公網位址，不需要做NAT，圖中ACL第二條錯將DMZ做了NAT，因此造成不能訪問


QUESTION 104
Refer to the exhibit. Two routers have just been configured by a new technician. All interfaces are up. However, the routers are not sharing their routing tables. What is the problem? (5.3.3-1)	[image: ]
A. Split horizon is preventing Router2 from receiving routing information from Router1.
B. Router1 is configured for RIP version 2, and Router2 is configured for RIP version 1.
C. Router1 has an ACL that is blocking RIP version 2.
D. There is a physical connectivity problem between Router1 and Router2.
E. Router1 is using authentication and Router2 is not.
Answer: B
Explanation/Reference:
考點：考查RIP版本知識點。兩種版本不相容。由提示資訊可知R2發送V1，收到V2。
A：水準分割保護R2從R1接收路由資訊。錯誤。
B：R2配置為V2，R2配置為V1,正確
C：R1使用了acl拒絕了rip的V2
D：R1和R2之間的物理鏈路有問題。錯誤。
E：R1使用了認證，R2沒有。錯誤


QUESTION 105
A medium-sized company has a Class C IP address. It has two Cisco routers and one non-Cisco router. All three routers are using RIP version 1. The company network is using the block of 198.133.219.0/24. The company has decided it would be a good idea to split the network into three smaller subnets and create the option of conserving addresses with VLSM. What is the best course of action if the company wants to have
40 hosts in each of the three subnets? (7.3.1-1)(10.4.1-3)
A. Convert all the routers to EIGRP and use 198.133.219.32/27, 198.133.219.64/27, and 198.133.219.92/27 as the new subnetworks.
B. Maintain the use of RIP version 1 and use 198.133.219.32/27, 198.133.219.64/27, and 133.219.92/27 as the new subnetworks.
C. Convert all the routers to EIGRP and use 198.133.219.64/26, 198.133.219.128/26, and 133.219.192/26 as the new subnetworks.
D. Convert all the routers to RIP version 2 and use 198.133.219.64/26, 198.133.219.128/26, and 133.219.192/26 as the new subnetworks.
E. Convert all the routers to OSPF and use 198.133.219.16/28, 198.133.219.32/28, and 198.133.219.48/28 as the new subnetworks.
F. Convert all the routers to static routes and use 198.133.219.16/28, 198.133.219.32/28, and
Answer: D
Explanation/Reference:

QUESTION 106
Refer to the exhibit. Why has this switch not been elected the root bridge for VLAN1?(5.2.3-2)
[image: ]
A. It has more than one interface that is connected to the root network segment.
B. It is running RSTP while the elected root bridge is running 802.1d spanning tree.
C. It has a higher MAC address than the elected root bridge.
D. It has a higher bridge ID than the elected root bridge.
Answer: D
Explanation/Reference:
考點：考查STP選舉原則，RID小者優先。由提示可知根橋的RID為20481
A：有超過1個介面連接到根網段，錯誤
B：使用了RSTP，但是選舉根橋時使用了802.1d，錯誤
C：比根橋有更高的MAC位址，錯誤
D：比根橋有更高的RID，正確。
QUESTION 107
Refer to the exhibit. At the end of an RSTP election process, which access layer switch port will assume the discarding role? (5.3.4-1)
[image: ]
A. Switch3, port fa0/1
B. Switch3, port fa0/12
C. Switch4, port fa0/11
D. Switch4, port fa0/2
E. Switch3, port Gi0/1
F. Switch3, port Gi0/2
Answer: C
Explanation/Reference:
SW3為跟橋，SW4會選擇一個埠作為根埠，另一個堵塞。在兩個埠cost相同的情況下，選擇埠號小的為跟埠，埠號大的堵塞。
QUESTION 108
Refer to the exhibit. How many paths can the EIGRP routing process use to forward packets from HQ_Router to a neighbor router? (3.3.3-1)
[image: ]
A. two equal-cost paths
B. two unequal-cost paths
C. three equal-cost paths
D. three unequal-cost paths
E. four equal-cost paths
F. four unequal-cost paths
Answer: F
Explanation/Reference:
考點：考查EIGRP負載均衡。根據提示，variance=3maximum=4，所以支援不等價負載均衡，最多支援4條。
A：2條等價路徑，錯誤
B：2條不等價路徑，錯誤
C：三條等價路徑，錯誤
D：三條不等價路徑，錯誤
E：四條等價路徑，錯誤
F：四條不等價路徑，正確。
QUESTION 109
Select the action that results from executing these commands.
Switch(config-if)# switchport port-security
Switch(config-if)# switchport port-security mac-address sticky(2.4.6-1)
A. A dynamically learned MAC address is saved in the startup-configuration file.
B. A dynamically learned MAC address is saved in the running-configuration file.
C. A dynamically learned MAC address is saved in the VLAN database.
D. Statically configured MAC addresses are saved in the startup-configuration file if frames from that address are received.
E. Statically configured MAC addresses are saved in the running-configuration file if frames from that address are received.
Answer: B
Explanation/Reference:
考點：考查交換機埠安全。sticky 關鍵字使靜態配置和動態學習的mac方式優相結合
A：把動態學習的mac保存到startup-config檔中，錯誤
B：把動態學習的mac保存到running-config檔中，正確
C：把動態學習的mac保存到vlan資料庫中。錯誤。
D：如果接收到資料幀中包含靜態配置的MAC位址，它將被保存在startup-config檔，錯誤
E:如果接收到資料幀中包含靜態配置的MAC位址，它將被保存在running-config檔，錯誤
靜態配置的直接保存在running-config裏了。
QUESTION 110
Refer to the exhibit. The following commands are executed on interface fa0/1 of 2950Switch.
2950Switch(config-if)# switchport port-security
2950Switch(config-if)# switchport port-security mac-address sticky
2950Switch(config-if)# switchport port-security maximum 1
The Ethernet frame that is shown arrives on interface fa0/1. What two functions will occur when this frame
is received by 2950Switch? (Choose two.)(2.4.6-2)
[image: ]
A. The MAC address table will now have an additional entry of fa0/1 FFFF.FFFF.FFFF.
B. Only host A will be allowed to transmit frames on fa0/1.
C. This frame will be discarded when it is received by 2950Switch.
D. All frames arriving on 2950Switch with a destination of 0000.00aa.aaaa will be forwarded out fa0/1.
E. Hosts B and C may forward frames out fa0/1 but frames arriving from other switches will not be forwarded out fa0/1.
F. Only frames from source 0000.00bb.bbbb, the first learned MAC address of 2950Switch, will be forwarded out fa0/1.
Answer: BD
Explanation/Reference:
考點：考查交換機埠安全。maximum 1說明只允許一個mac通過。
A：添加ffff.ffff.ffff到mac位址表，錯誤。這是個arp報文，把資料包源mac添加到mac表
B：僅允許主機A通過f0/1，正確
C:當2950switch收到幀後丟棄，錯誤。應該是除f0/1外所有埠洪泛
D：當2950switch收到目的為0000.00aa.aaaa的資料幀會從f0/1轉發，正確。
E：主機B和C的資料幀會從f0/1轉發，但從其他交換接收到的不會，錯誤。
F：僅有源mac為0000.00bb.bbbb，2950switch第一個學習到的mac位址才有從f0/1轉發。錯誤。
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